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Abstract

A hyperplane arrangement is a finite set A = {Hy, Ha,...,H,} of codimension-one linear subspaces
in CP™ (or C™). A hyperplane arrangement in a 2-dimensional space is usually called a line ar-
rangement. Associated to a hyperplane arrangement A in CP™, there are two main objects, the
complement M(A) = CP™ \ Uy 4 H and the intersection lattice L(.A) which is the set of inter-
sections of hyperplanes in A equipped with a partial order by reverse inclusion. Questions about a
hyperplane arrangement mainly concern geometrical and topological properties of the complement,
and how those properties are related to its intersection lattice. A natural question is when the dif-
feomorphic type of the complement M (.A) depends only on L(A). A well-known result says that the
complements M (A;) and M (A,) are diffeomorphic if there is a one-parameter family of arrangements
with the same intersection lattice connecting .4; and .45. In particular, if A; and A5 are in the same
irreducible component of the moduli space, then their complements are diffeomorphic.

This talk will focus on irreducibility of moduli spaces of line arrangements of different combinatorial
types, especially, irreducibility of moduli spaces arrangements of 10 lines in CP? which is a joint project
(in progress) with Meirav Amram, Moshe Cohen and Mina Teicher.

3:80 — 3:45 Tea Break

Mr. Yih SUNG

Harvard University
Division Problem and L? Cramer's Rule
3:45 - 4:45pm

Abstract
Suppose f,g1.....gp are holomorphic functions over 0 € C". Then there raises a natural question:
when can we find holomorphic functions hi, ..., h, such that f = 5" g;h;7 The celebrated Skoda
theorem solves this question and gives a L? sufficient condition. In general, we can consider the vector
bundle case, i.e. to determine the sufficient condition of solving fi(x) = gi;(x)h;(x) with parameter
x € 2. Since the problem is related to solving linear equations, the answer naturally connects to the

Cramer’s rule.
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